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Note :
1 Any one of the following areas can be offered :
(i)  Elements of Business.
(iii) Elements of Book-Keeping and Accountancy.
(i) Typewriting (Theory) Hindi or English.
2. For Typewriting (Theory) Hindi or English
(Max. Time : 2 Hours and Max. Marks : 30)
(i) aTfoTsa o A
(i) Elements of Business
AT 339
i) FETTEFTL0TAE
(i) @M geT A€l
(i) FET-ae 1 #1sa$agﬁmﬁw7?a?mww$w?/ﬁqw
ﬁwﬁﬁ#ﬁﬁm#m—@ﬁﬁw?!
(v) ¥eA-TEI 19 8 34 = I Yo7 3 3T T &1 59 ¥ & TN 70 /el @
a7t 7&f &1 e |
() FA-TEI 357 40 o Y T 4 ) FT & | § Fl @ I 150 yrsal @
37feres €T &7 T |
(vi) o J7T % G} 7T e & w8
General Instructions :
(i) This part has 40 questions in all.
(ii)  All questions are compulsory.
(iii)  Questions from Serial no. 1 to 18 are Multiple Choice Questions carrying

one mark each. These are to be answered by writing the correct option in
your answer-book.



(iv)  Questions from serial no. 19 to 34 carry 3 marks each. Answers to such
questions should not exceed 70 words.

v) Questions from serial no. 35 to 40 carry 4 marks each. Answers to such
questions should not exceed 150 words.

(vi)  Attempt all parts of a question together.

. Frefafad § & geit o1 s A B E@R?
(a7) o & @ W
(@) i o7 e
(@) yaifeeer s fie
(3) e 1 A ‘ | 1

Which of the following is an external source of finance ?

(@  Loan from Development Bank

(b)  Issue of Bonus Shares el 4

(c)  Issue of Preference Shares

(d)  Ploughing back of Profit

2. ﬁm%@aﬁ@%ﬁ@a%mﬁmaﬁﬂﬂ?m%?

(x) W&
(|) oA
() ok =0

() St 1
Which of the following is an owned fund as a source of finance ?

(a)  Public Deposit

(b)  Debentures

(¢) Bank Loan

(d)  Share Capital
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3. o o frima erefr e 2
(1) wrzde fafiee et =
(9) ETHERT BH &
(@) ufses fafiee e =
(3) wewrl wiFfai &
Issue of debenture is a source of ﬁnénce for:
(a)  Private Limited Company
(b)  Partnership Firm
(¢)  Public Limited Company

(d)  Cooperative Societies

4.  H1 AR STET ST qT SO 1 - BT R, e ©
(31) PR aNIR
(3) Ty foufo
(@) o SR
(3) ISR
A market where shares and debentures are purchased and sold is called :
(a) Retail Market
(b)  Stock Exchange

(c)  Wholesale Market
(d) Commodity Market

5. OT o HAT SAITERERI i HET AT
() ot & @l
(/) A % FRSR
(|) - PO & T
(8) ol & WEER

35/1 | 4
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Equity shareholders of a company are called :
(@)  Owners of the company

(b)  Executives of the company

(c)  Guardians of the company

(d)  Partners of the company

fefafea d @ o e s @ ?
(1) o

(&) o srfrfaed

(@) eiferehrdt st

(3) wafew 8
Which of the following is a current liability ? '
(a) Debentures

(b)  Bank overdraft
(c)  Preference shares

(d)  Public deposits e

€ 99 Fordeh g1 Tk e o7oet foRelt gardt wman it yum # & v ww e uf
1 IAH 4 Aok 1 FA F1 1< It @ ot am 3w foran gan @,
FHEATIT & :

(1) ==

(@) femegmwe

(@) Tt

(3) "= 1

The instrument through which a bank directs its another branch to pay a

certain amount mentioned in the instrument to the person named therein, is
called :

(@) Cheque

(b) Demand draft
(c)  Bill of exchange
(d) Letter of credit

5 [P.T.0.



8. freffiaa # i #1 il wa S w1 7
(31) werfd (efifsm) fom
(&) o frtae
(@) “Hed@
(8) dfhi & it Aafy w1 =01

Which of the following is not a source of long term finance ?
(a) Leasing finance

(b)  Issue of debentures

(¢)  Cash credit

(d)  Long term loan from banks

9. U UTEs ol &7 U ehl o) JGT STHT 4 9T 3Heh! oK 9T 9199 fehTe &
gﬁmﬁaﬁm?ﬁaﬁr%:

(31) =T @ d
(@) wEfrSHEH
(|) «=q o% @ °

() e (feefon) smn @ o

A banking facility enabling customers to deposit or withdraw cash during a
day at any time is provided in :

(a)  Current account

(b)  Fixed deposit account

(c)  Savings bank account

(d)  Recurring deposit account

10, Feffeadd @ SFm gt Faar? ?
(31) TTEShI ST ST &1
(@) ws=h R
(|) el & T
(3) <MW1 Ew HEAT
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Which of the following is a primary function of a bank ?
(@)  Giving surety of the customers

(b)  Agency work

(¢)  Giving references of the customers

(d)  Accepting deposits

1. T g it ot o doft s et @
(1) IUR WA & 559 7q
(&) ot 7w fofe g
(®) =y fafog g
(3)  Gwar 7w e gry 1
A joint stock company receives debts capital through :
(@)  Purchase of goods on credit
(b)  Issue of preference shares

(c)  Issue of debentures

(d)  Issue of equity shares

12. @%ﬁﬁﬁmﬁwwﬁquﬁﬁwm%*mqm%@ﬁﬁ

ST fefa ST R, e R
(31) W=

() umFAs

(|) Twifrd 9=

(3) fopa<a= ' 1

A cheque which is not payable on presentation to the bank but credited in
the account of the payee is called :

(@  Order cheque

(b)  Bearer cheque
()  Crossed cheque
(d)  Mutilated cheque

35/1 7 [P.T.O.



13.

14.

15.

35/1

T = St 1 9, 2014 1 fifia foman mn, e w20 s, 2015 ) e
fore T8 2, 38 e -

(31) TEw

(@) forpa <%

(|) qd-Terfera 9=

(3) I-feriferd <

A cheque issued on 1* March, 2014 and bears a date of 20" February, 2015
1s called :

(a)  Stale cheque

(b)  Mutilated cheque

(c)  Ante-dated cheque

(d)  Post-dated cheque

SRl BRI 24 B¢ FGT ST A e 9 feTe ST <t S i o e €
() s SR

(¥) vuwdtum.
(m) rHia dfhT
@) R

A banking facility enabling customers to deposit or withdraw cash 24 hours
a day is called :

(a)  Credit banking

(by A.TM.

(c)  Unlimited banking
(d)  Phone banking

%WH@WWW%

(31) 9w I+

(9) ad VT o @Td H {@ifehd =feh

(W) TEET-atvid Shae JTHehT! o @id 8 {@ifehd 9
(3) RN IF



Safest form of a cheque is :

(a)  Bearer cheque

(b)  Cheque crossed account payee only

(c)  Cheque crossed not negotiable account payee only
(d)  Order cheque

16. U fafma yox & smrefin 8 w Afen = anfR w1 e srarTeET 33

LEGIRE

(H) @® =

(9) wHiewrerat ot

(") T 9THehal st

(7) S&H 1
In case of dishonouring of a bills of exchange the noting charges etc are
ultimately borne by :

(a) Drawer

(b) Drawee

(c) Payee

(d) Bank

17. R Y T Hld & earer St STavhar et 2 -
(1) JwHremd
(@) fafm o g d
(|) vl ey

(3) gArFmH 1
Signatures of acceptance of the debtor is required in case of :
(@) Cheque

(b)  Bills of exchange
(c)  Promissory note
(d) Hundi

35/1 9 [P.T.O.



18. U fafom uz hi <o 8 forw ueg Y Wm@waﬁmﬁmm%,méz

(1) T STHeRT
(&) STt
(®) e
(7) Tk

. In the case of bills of exchange, the party which is ordered to pay the
amount is known as :

(a) Payee
(b)  Endorsee
(c) Drawee
(d) Drawer

19. o FRY ed ¥ 7 et ol qon SR T o Sfte i A AR
T |

What is a debenture ? State any two differences between secured debentures
and unsecured debentures.

20. @W%ﬁmnwﬁqﬁﬁﬁﬁmmﬁaﬁﬁﬁﬁ?ﬂ?aﬁﬁﬁmﬁ
AT I |

Explain in brief any three factors determining the medium term finance of a
business.

21, wu fafr F uferfie Hif q gaemed i wheg faaft @ wfasfeEt w1
fodftes eTR 1 T ST @ ¢

Define stock exchange and explain why a stock exchange is known as a
secondary market of securities.

35/1 10
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23.

24,

25.

26.

217.

28.

3511

Wwﬁmwéﬁ%?ﬁwmﬁ%ﬁmé;waaﬁaﬁmﬁél

What are the preference shares ? Explain any two disadvantages of issuing
preference shares.

frferiaa & i i st samed
(i) FoU Sl (i) T st |
Give any three differences between the followings :

(i) Debt capital (ii) Owned capital.

RS § HIEd ol % TR FaTed | |

State the types of banks working in India.

WW%%%WWW&%WWI

Explain any three subsidiary functions of Reserve Bank of India.

wmﬁmé’mm@aﬁawmmwaﬁmml

State the procedure of opening and operating a savings bank account in a
post office.

shiSe HTE a1 T uA. 1 & 9 Famy |

State the use of credit card and A.T.M. card.

T & 1 e ® 7 9okl R Yaiferd 0 3 Reed ot oot o wweme |

What is meant by crossing ? Explain any three methods of crossing of
cheques.

11 [P.T.O.
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30.

31,

32.

33.

34.

5 -
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HEY H FHATRT : (37) Y- -TRw, () < g, (W) 6 TF |

Briefly explain : (a) Pay-in-slip, (b) Cheque book, (c) Pass book.

YBTeRA 8 T qTeqd ® 7 YBIShA o RIS ol 3eTel S |

What is meant by endorsement ? Give any two examples of endorsement.

ot o == 2t R 7w 4w o qun v ufemn w3 % S 9 o waned |

What is a bill of exchange ? Give any two differences between a bill of
exchange and a promissory note.

T Ak qYUT T Soh gTTe | s o T THem |

Explain any three differences between a chéque and a bank draft.

aTieEs foer qon gerard fae & aref guamey |

Give the meaning of a trade bill and an accommodation bill.

BUST ot ieaTen A o sweht forrel =m fargiwanat =t wramed |

Define hundies and state any four characteristics of it.

Iy saa™ # fam & wew & Rt ww fargadi =1 wwesd |

Explain any four points of importance of finance in modern business.

12



36. UF FauE H {0 & Wd & w0 A 59 AEe d Y o Rl ww i )
GRS | 4

State any four advantages of public deposits as a source of finance in a
business.

37. Ut ufifeafaat FATEC S8 e S Tt Dok o1 s 0 @ T R g R | 4

State the circumstances under which a bank can refuse to make payment of
a cheque.

38. UK (ST Soid o BT B ? e e farsivad s | 4‘

What is a negotiable instrument ? State its main characteristics.

39, ‘é’—ﬁ%ﬂ@ﬂﬁﬁaméﬁﬁmﬁémmml 4

Explain any four benefits of ‘e’- banking to customers and banks.

40. T AT sfeh o Toheell = el et Y e | 4

State any four secondary functions of a commercial bank.

35/1 13 [P.T.O.



(i) TETETAT AAT AETHA & A
(ii) Elements of Book-Keeping and Accountancy

AT 1357

()  §FHTH FA 36 ¥ E |

(i) T I AT &/

(ii)  ¥A-GEIT 1 & 18 7% Tglascsiq Jo7 & 5t Jei% gk 3% &1 8/ 120 1
fa%eql 4 @ &l fasey i Iue-Yieiesr 4 i@ 8

(v)  TF I G T eEa B E

General Instructions :

(i) This part has 36 questions in all.

(ii)  All questions are compulsory.

(iii)  Questions from serial no. 1 to 18 are Multiple Choice Questions carrying
one mark each. These are to be answered by writing the correct option in
your answer-book.

(iv)  Attempt all parts of a question together.

1.  gma: fafme o 1 e s 2
(37) G H AT W
(9)  spTaTeRT! sl ATeHT W
()  YTa STaeRal shi W11 W
(3) 3H 4 HIE A

A bill of exchange is renewed generally at the request of the :
(a) Drawer

(b) Drawee

(c) Payee

(d)  None of the above

A 1 foos st S R R

(31) dAUCHT
(d) Ushg T A
(®) TSAHR 1

(_'c.') Qa1 81 1

35/1 14
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Bill receivable book is a part of :

(a)  Trial balance

(b)  Cash book

(c)  Journal

(d)  Ledger

e 92 W mgqﬁﬁwqamaﬂﬁmﬁm%aﬁﬁsaﬁgmaﬁﬁm%@

MR :

(1) wiewraal &

(¥) <EF*

(@) wmfaw s i

(3) wwfws I

When a discounted bill is dishonoured the account debited in Bank’s books

1S {

(@)  Drawee’s account .
(b)  Drawer’s account £
(c)  Bills receivable account
(d)  Bills payable account
Taforrr o wdiedt (wge) auridt 2 i -
(31) fafme o3 =1 e aftaeser Y @ gedt 8w
(%) ot o o1 e wiarran faft 3 e o gan
(@) fafma o srefispa &t mn
(3) 3w A w7 1
The rebate on a bill shows that :
- (@)  The bill has been paid before the date of maturity
(b)  The bill has been paid after the date of maturity
(c)  The bill has been dishonoured
(d)  None of the above

15 (P10,
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T Tt W il 1 fafyr 31 59, 2014 ® qon o 3 983 ) /@y =5
foran T 8 | 3T e oty gt

(31) 1W, 2014
() 2w, 2014
(") 348, 2014
(3) 4w, 2014 1

The date of acceptance of a bill is 31* January, 2014 and the bill was drawn
for a period of 3 months. The date of maturity of the bill, will be :

(@ 1*May, 2014
(b) = 2" May, 2014
(c) 3™ May, 2014
(d) 4™ May, 2014

ferfam o <61 2w & ver R e w0 o st frm ST R, 9 e @
(31) T STl :
(9) == ST | T e

@) e

(3) [GICED 1

In the case of bills of exchange the party which is ordered to pay the
amount is known as :

(a) Payee
(b)  Endorsee
(c)  Drawee
(d)  Drawer

S o o R e fafyr & g et () WA frn s @ @ ymam
STl oh! GEehl B WTal o A1 f3haT STTan &

() v foo= @ran

(%)  Tehe e de =Xt () @

(|) Fad e @l

(3) hae Kt (gg2) @ 1

16
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While retiring a bill under rebate the accounts to be debited in the books of
payee are :

(a)  Bills receivable account
(b)  Cash account and rebate account

- (c)  Only cash account
(d)  Only rebate account

ugaﬁw%mwﬁmmﬁaﬁn@mwﬂoooma:ﬁmﬁ
@ o A1 st 371 forw fad |7 R

CHRRSIE R
(@) afage afs
(®) <@y
(7) darf<e agle

For repairing a car by Rahul the wages paid to him ¥ 2000 have been
debited to his personal account. Itisan :

(@)  Error of omission
(b)  Compensating error
(¢)  Error of commission
(d)  Error of principle

9 J9E F@ 1 AR T 3000 Mk T | guw wfafy § s et
TR

(1) SHTEMZ 3000

(¥) 9™ T 3000

(|) ™18 T 6000

(]) Am B T 6000

Purchases return book was overcast by ¥ 3000. In rectifying entry the
purchase return book will be :

(a) Credited by ¥ 3000

(b)  Debited by T 3000

(¢)  Credited by ¥ 6000

(d)  Debited by T 6000

17 [P.T.O.



10. 3af< @marwiar e ;

(1) IEIY
(F) SNy
() SAIEAHE

(38) THEHE
Suspense account shows :
(a)  Debit balance
(b)  Credit balance

(¢)  Either of the two
(d)  None of the above

11. TR 6 M 2 7,000 Al Tfaf® Rt @rd o s st 27 9,000 B I B 2 |
& vfafd & ferten @rar am g

(31) %2000
(¥) 16000
(@) %7000
(3 T 9000

Rent paid amounting to ¥ 7,000 was credited to rent account with ¥ 9000.
In rectifying entry the rent account should be debited by :

(a ¥2000
(b) 16000
(¢) 7000
(d T9000

12. U QUAT PR ST shiierd B I g1 o, o fomm i | aman s g
(1) HF @l
(@)  Ift @
(@) T @mn
(8) @

35/1 18



13.

14.

An old computer that had been used in the office was sold. The account to
be credited will be : '

(a)  Purchases account

- (b)  Capital account

(c)  Sales account
(d)  Computer account

% 3,000 e o HISA 1 IYANT WHT & T8 ITN & foT¢ Toh FHIfel s 7 5T,
Fm 7 foran s =t

(31) wwfa @

(/) mqfderdt w1 @@

(@) HITIAr ,

(3) Tamt 1 HfRTd @ 1

Goods worth X 3,000 were used in making an asset for domestic use of the
proprietor, should be debited to :

(a)  Asset account

(b)  Suppliers account

(c)  Purchases account

(d)  Proprietors personal account

grafeEl W g e Y uedi forva ugfa d g i afy

(31) e sl @

(&) ufded gedt 2

(@) TR TR

(3) THAFEARR 1

Under diminishing balance method of charging depreciation on assets the
amount of depreciation :

(@) Increases every year
(b)  Decreases every year
(c)  Remains constant
(d) - None of these

19 [P.T.O.
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16.

Toreft Trafa o fasrar w819 areft =1l & 9 e ST @

(1) TEEEEH
(@) wBEEQH
(|) «w-gEe i

(3) SwWedH & foreft 7 7

Loss on sale of an asset is debited to :
(a) Reserve account

(b)  Depreciation account

(¢)  Profit and loss account
(d)  None of the above

HERSIERIEE

(31) wwafEl & geaied 6

() «ra* e h

(W) | o qedie ol AFTd o e g1 st
(3) I H ° FIE A

Depreciation is a process of :

(a)  Valuation of assets

(b)  Allocation of cost

(c)  Both of valuation of asssets and allocation of cost
(d)  None of the above

17.  =orE forva ugfar o wraft @ g < 1ftt < womn ) St R, geE % 9

35/1

(H) TUH=IY

(F) e e
(@) g o foTn o e
(8) o 9 i T

20



Under fixed instalment method depreciation is calculated on the asset after
deducting the : -

(@)  Installation charges

(b)  Scrap value

(c)  Commission paid on purchases
(d)  None of these

18. TRl W T e B ORI ¢
(31) weafet = sifoe v o g
() wwaferrt & SomR gedl
(®) 7 Sre
() 9w ® | wIE 7 1
Depreciation of assets arises on account of : -
(a) Physical wear and tear
(b)  Fall in market value of assets

(c)  Fallin the value of money
(d)  None of the above

19. o faf faws & drae g e gt & fifaa amett § w0 sfifdat 6

S ?
(i) mwﬂwﬁﬁﬁmﬁmwwm%mmww
WTH R fora e &
(i) 9% T T2 R o B o R s @
(ii) ST ¥ | e el T i @ Y YW R o s 3

What journal entries will be passed by the drawer of a bills of exchange in
his books in the following cases ?

(i) When the bill is retained till due date and encashed on maturity
(i)  When the bill is discounted with the bank
(i) When the bill is retired under rebate before the due date

35/1 21 [P.T.O.



20. m%mmﬁwﬁmmww;

ﬁmﬁ?soooﬁw&rﬁﬁz%mﬁﬂﬁa’mﬁr&rmaﬂmé%
mﬁaﬁaﬁmm3m€%mqﬁm%mwn

Pass the necessary journal entries in the books of drawer :

Rakesh’s acceptance for ¥ 8000 to Govind due today was renewed along
with interest @ 6% p.a. for 3 months.

21. o ioa  forer et o A g qon 3 et ) wenE? |

Name the parties involved in a promissory note and explain their duties.

22. &m%—ﬁmwﬁﬁ%maﬁq,sﬁmmwﬁmﬁa
Tt & |

State any three examples of errors which cannot be located by the Tl

preparation of trial balance.

23, @it~ sryrfeat #=n e ? Ut fort <Y arqpft & ereww At |

What is meant by errors of principles ? Give any two examples of such
errors.

24, mﬁrﬁmmﬁqmﬁmm%mﬁﬁwﬁﬁm

Explain the advantages of charging depreciation on assets according to
diminishing balance method. \

25. mﬁmﬁuﬂﬁamﬁaﬁ%?ﬁqmﬂﬁﬁm%&l

Explain any three factors affecting the calculation of depreciation.

35/1 22



26. B, Trehrehtor qo afer it eretr 39 79 gt wnged | 3

Explain the meaning of depreciation, depletion and amortisation with
examples.

27, faftery foos o g R ? 3wes foredt i ol ot wmemed | 4

What is a bill of exchange ? Explain its any three advantages.

28.  famferfiaa it it e i & fore dsrmren wifeat it |

(i) R R X 1000 ST AH 1 oET FETH % iR T A R
I |

(i) O =Y = fasg T 5500 fasg @@ & s frar |
(it)) ¥ 18000 % IUT AT o 3T T AT Teoh! § T ey T |
(iv) ¥ 10200 FTeR T =1 orEl 9 5 7 T )| 4

Pass journal entries rectifying the following errors :

(1) Office rent of ¥ 1000 was debited to the personal account of land-
lord.

(i)  Old machinery was sold for ¥ 5500 was credited to sales account.
(i)  Credit purchase of goods ¥ 18000 was omitted to be recorded.

(iv)  Purchase of furniture ¥ 10200 was recorded in purchase book.

29. U ol =R R Y rypfedt 9 Serey afi aamed, ) qeve T @ vEe
HEIGIES | 4

Explain any four types of errors with examples which are disclosed by
preparation of trial balance.

35/1 23 [P.T.O.



30. Pl s w g i
(i) STV T 700 F A T 7 @1 T 750 F e T |
(i) SN T 400 o T AR T G T 300 F AT |
(iii) ST T 9000 F I HTA T T S4GT T 9900 F FFerT 7707 |

(iv) EFEW X 1000 ¥Tel AT9El T ST T 1600 @ T |

Rectify the following errors :

()  Goods sold on credit to Arun was recorded in books as ¥ 750 instead
of ¥ 700.

(i)  Goods returned to Babu for ¥ 400 was recorded as % 300.

(iii) Goods purchased from Laloo on credit T 9000 was recorded as
T 9900.

(iv)  Goods returned by Sonu % 1000 was recorded as % 1600.

31, Fwfafad % for srarvaes demmrn sfafiat i -
()  Af~m whid =t 7 2 7000 & 9 feaemy wm o |
(i)  fafram o smista st 3 5000 @1 1 SrE T B TR |

Pass the necessary journal entries for the following :
(1) Last year the closing stock was under cast by T 7000.

(ii)  Interest accrued on investments ¥ 5000 was not recorded anywhere.

32. TRl g e % T 9 SRt ) wHEEy |

Explain any four objectives for providing depreciations on assets.
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33. ‘a’%‘a’m@ﬁasuﬁiaﬁaﬁaﬂ3ooow%@|‘a’ﬁmm
& e ‘m’ﬁaaﬁa‘v’aﬁqﬁm(éam)wﬁmlwﬁrﬁxm
foret srga €1 | ‘o7, @ qen |1 gEh 3 s wiifat i 6
‘A’ drew a bill for ¥ 3000 on ‘B’ for 3 months. ‘B’ after giving his

acceptance, returned it to ‘A’, ‘A’ endorsed the bill to ‘C’. On due date the
bill was dishonoured. Pass the journal entries in the books of A, Band C.

34, %ﬁmﬁwﬁ%ﬁ@:%ﬁwﬁﬁml _ 6

State any six characteristics of a bill of exchange.

35, @qﬁumﬁaﬁ”amﬁq&ﬁwmﬁaﬁmwm@m%?aﬁ%a-ﬁ
3SR S T | 6

What is meant by one sided errors and two sided errors ? Give two
examples of each and explain.

36.  STIYIAIY U =0 3 T 7 T 600,000 Y S Y 1 I, 2011 % 57 7 |
30 T, 2013 Y 36 ©F 37 wufia 2 300,000 =1 T Y | H3AT 9T 10%
mﬁaﬁmﬁwmﬂmmwélaﬁw 31 feETR = 5
%ﬁ%laﬁ:raﬁ%%qwﬁqﬁ@mﬁwﬁml 6

Ashutosh & Sons purchased a machine on 1% April, 2011 for ¥ 600,000.
They purchased additional machinery for ¥ 300,000 on 30™ September,
2013. Depreciation is charged at 10% p.a. on straight line method.
Assuming that the accounts are closed on 31" December every year.
Prepare machinery account for 3 years. -
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(iii) Zewut (Torgrar) fowsht/ st
(iii) Typewriting (Theory) Hindi / English
AT 3397 -
() FHITHFAISTAE]
(i) @I AT &/
(iii)  F¥T-GEIT 1 8 6 TF & 7 757 Bl I aIA & R JAF 577 T HF F 6 |
(iv) FH-G&IT 7 @ 12 TF JAF J37 2 3F] #1 8| 7% I D12 517 T K

60 ¥I=3 §I7 ¥97 & 3118 & 781 817 wife

(iv) YH-GEIT 13 G 15 7% J9% J97 4 3F] 1 & | 57 F¥71 3 I 100 77551 G
3ifer 3 787 817 g |

General Instructions :

(i) This part has 15 questions in all.
(ii)  All questions are compulsory.

(iii))  Questions from serial no. 1 to 6 are very short answer questions and each
question carry one mark.

(iv)  Questions from serial no. 7 to 12 carry 2 marks each. Answers to such
questions should not exceed 60 words.

v) Questions from serial no. 13 to 15 carry 4 marks each. Answers to such
questions should not exceed 100 words.

1. I E a9 HaR 15 1 S0 a1t Tl 61 9 sargd | foemey e i me 2 -

(31) OEI15 (9) 15E

(@) EI15 (8 15EO

Name the cell indicating column E and row 15. Options are given below :
(a) OE15 (b) ISE

(©) ~El15 (d). - 15EQ

2. . W td d us g ffvaa w8 foew fug @ o g ey ?

With which sign must a formula in M.S. Excel start ?
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a@%mmaﬂﬁ%mﬁmﬁmmﬁw%mﬁ?

(37) wh @ @

(@) . (3) I FETE 1
How many spaces are ideally left after typing semicolon ?

(@ one (b) two

(c) three (d)  none of these

sl i & 2159 Fa T B Tl fefifeg ryIfeat o oref Tweed -

(1) “Hrwd |

(9)  3mmd Few (R) | I
Explain the meaning of the following errors committed while typing
speedily:

(@  Lack of rhythm
(b)  Improper stroking

ﬁw%ﬁaaqggw%ﬁﬁﬁaﬁqmﬁg‘ﬁaﬁﬁmﬁ%&’m
FATE ?

{ L A (3) A B
@ # @ o !
Which of the following proof correction signs indicates ‘insert the matter
indicated’ ?
()5S (b) /v
© # O
Fretferiad % forg yw gom fig wmed -
o ST T AR 7 ' I

Give the proof correction sign for the following :
“Type without paragraph” ?

(1) tRad T S’ T 1 WA Hand ¥ R e srar 2 a1 wemi
% forg ?

(F) TaAd1, 2,3, ... T I Hart o fora R ST & =1 o

& forw ? 1+1=2
(@)  Are A to Z used to number rows or columns in Excel ?
(b) Arel,2,3..... used to number rows or columns in Excel ?
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8. Wedewnadid?

What is a spread sheet ?

9. ‘gad fa’ F R aTead BT R ? 3 e F ST D 7

What is meant by ‘gross speed’ ? How is it calculated ?

10. frefafea ewmsfen sfeat A fafta w01 @ Tafm frawt =) gwemes -
(i) ™ afEdq
(i) TH-TE F FH Y FAT
Explain the rules regarding marking of the followiné typewriting mistakes :
(i)  Shifting
(ii) Over typewriting

11. O Jf<H I i vgd a9 @ # @ arelt 6 3 gt = guemd |

Explain any two precautions which should be kept in mind while reading a
final proof.

12. Y% PR & IR H o W T e gl & o1of s
(i) trs. |
(i) ctr.
Give the meaning of the following signs used in proof correction :
@) ..

(i) ctr.
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FH | AW nsft | | e | omoah T\ ot arrd
1. EpEs 90 88 77 56 78
2. = 88 77 56 90 90
3 FfEw| 66 90 | 88 77 56
4. T 56 1 56 90
5. G 90 88 77 56 78
6. LEN 88 77 | 56 90 90
% el 66 9 | 88 o 56
8 T 56 77 77 56 90
9 fag 90 5 A e 56 78
10. FHA 88 77 | 56 90 90

maéﬁ@mﬁﬁmmwmmélwﬁqﬁﬁi’sz4ﬁeﬁ9ﬁ
aﬁ%ﬁﬁ%lw@zﬁmaﬂmﬂaﬁw%ﬁaamﬁ%maﬁm

() T g A T R e e 3 7

(%) 36 I & foraet shitraer (@w) & 7

(=) mmmaﬂﬁmiﬁuzsmsmﬁma%éﬁm?

(3) mu@aﬁ@gsﬁzwwmﬁamvﬁqﬁﬁﬁ? 4
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A spread sheet has been created to keep the record of marks of students. A

portion of such a spread sheet is given below :

S.No. | Name ENG | MATHS | HINDI | SSC | SCI
1. Mayank 90 88 7 56 | 78
2, Shanti 88 i 56 90 | 90
4. Agnivesh | 66 90 88 Tk 56
4, Ranu 56 77 71 56 | 90
5. Harsh 90 88 77 56 | 78
6. Rakesh 88 77 56 90 | 90
T Neha 66 90 88 77 | 56
8. Sona 56 1| 77 56 | 90
9. Bindu 90 88 5] 56 | 78
10. Kamal 88 /i 56 9 | 90

Now a performance report has to be created in word processor. In that
report the range A4 to G9 has to be included. Based on this situation answer

the following :

(@)  What is the keyboard shortcut to paste the selected range ?

(b)  How many cells are there in the above mentioned range ?
(c)  How will the range A4 : G9 be selected using mouse ?

(d  How will you include a portion of a spread sheet into documents ?

Wﬁﬁ@w%m%ﬁwmmaﬁmﬁ?

What steps should be taken for the develo

typewriting ?
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15. ﬁw%ﬁqamaﬁmm%

T fafa

Trs.),

d)
#)

35/1

¥ = TEw wew § B wwer W v
TS & 2 95 srden ween ¢ By o
qHF FEG BT A TR ) Gy B 7w

!aﬁms’fﬁm%ﬁfﬁ;m

THaial #t NHd 2 gear W
mm#m@ﬁ I Prfg
ﬁmm-%ﬁ##ﬁﬁaxﬁmﬂ

B S 9§ B T 9w awR @

FHIR Re B & oF e et g @

ﬁ%ﬁﬁﬁﬁ@fﬁrmmmaﬁm'
BR BT B FvE 2R e

St wwe R

2 : zﬁm%asﬁma
aﬁm%ﬁﬁﬁw%mﬁw
LR E S B i o ———
] I3 oo
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Or

Rewrite the following document incorporating the corrections marked
against each line :

el a,u.,ug&;j "t-\rk; Berel Loskd
nof|0he. MENVBY aveilebto sl Bak |
Rosly 4‘.(”‘% AP n@ éu.}- Jky«ei@,
QKQS‘( ﬂ%{r%ve—’h(_o,’lo 3\«? frienels e bosk J
- Hvade! I hame noeo | fb'r(_.-e.af {D‘{A&h
Ao so baconse 4 g Warvnber
of Atbeys amed cLu,y?/L-e,s s l s
Yeceaved fromn. veadeys ¢ T
Nenof § e ("‘“’“;‘2“"""&'% [ Ao 4
totles O rntutiow wa ‘“?/‘Q“WW-?&[
Nﬂ/r,/—rw ore bgy Lrnplo Thidps 4
Uy bovle tvade o Ada. Fasf,
hatf| [ Cuavpthins 4o do it busivess
o hothinp B do WAL Lotles.
O | Brusirass Gt st lo| By
hAN frofils hargins anel o yaly
'1' Yefunh N Calilal are has
deflnebhilp b ) by Lenpex Cntlress:
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